;> restart
> AA = array([[-1,0,1],[1,1,0], [-1,-1,1]])

-1 01
A4=| 1 10 )
-1 -1 1

;> with(linalg) :

> MatExp = exponential(AA, t) : evalf(MatExp1 I 2); evalf(MatExp1 » 2); evalf(MatE)qv1 3
2 ); evalf (MatExpz’ " 2); evalf (MatExpz’ 2 2); evalf (MatEpo, 3 2 ); evalf (MatExpl B
2 ); evalf (MatExp3 2 2); evalf (MatExp3 3 2)
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> Comprobacion, = simplify(evalm( map(diff, MatExp, t) - evalm( A4 &* MatExp)))

000
Comprobacion;:=| 0 0 0 A3)
000
=> Identidad = simplify(map(rcurry(eval, t='0'_), MatExp))
10O
Identidad:=| 0 1 0 “4)
0 01
=> MatOriginal == simplify(map(rcurry(eval, t=_'0'), map(diff, MatExp, t) ))
-1 01
MatOriginal .= 1 10 )

-1 -11




